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Sr.

No. 
Questions Ans 

1)  Find     𝐿{𝑒7𝑡} =… 

 

[A] 
1

s−7
   [B]  

1

sk
    [C] 0    [D] 

1

t−k
   

A 

2)  Find     𝐿{sin(𝑘𝑡)} =. .. 

[A] 
𝐤

𝐭𝟐+𝐤𝟐 [B] 
𝐤

𝐬𝟐+𝐤𝟐 [C] 
𝐬

𝐬𝟐+𝐤𝟐 [D] 
𝐤

𝐬𝟐−𝐤𝟐 

B 

3)  Choose the correct option. If  𝑳{𝑭(𝒕)} = 𝒇(𝒔), then 𝐿{𝑒𝑎𝑡𝐹(𝑡)} =. .. 

[A] 𝑓(𝑡 − 𝑎) [B] 𝑓(𝑡 + 𝑎)  [C] 𝑓(𝑠 − 𝑎) [D] 𝑓(𝑠) 

C 

4)  Choose the correct option. If  𝑳{𝑭(𝒕)} = 𝒇(𝒔), then 𝐿{𝐹(𝑎𝑡)} =. .. 

 

[A] 
1

𝑎
𝑓(

𝑡

𝑎
) [B] 𝑓(

𝑠

𝑎
) [C] 

1

𝑎
𝑓(

𝑠

𝑎
) [D] 𝑎𝑓(

𝑠

𝑎
) 

C 

5)  Choose the correct option. If  𝐿{𝐹(𝑡)} = 𝑓(𝑠), then 𝐿{∫ 𝐹(𝑡)𝑑𝑡
𝑡

0
} =. .. 

 

[A] 
𝒇(𝒔)

𝒕
  [B] 

𝒇(𝒕)

𝒕
  [C]

𝒇(𝒔)

𝒔
   [D] sf(s) 

C 

6)  Find     𝐿{sin ℎ(𝑘𝑡)} =… 

 

[A] 
k

s2+k2
 [B] 

s

s2−k2
   [C] 

t

s2−k2
  [D] 

k

s2−k2
 

D 
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7)  Find     𝐿{cosh(𝑘𝑡)} =… 

[A] 
s

s2−𝑘
  [B] 

t

s2−k2  [C] 
s

s2−k2 [D] 
s

s2+k2 

C 

8)  Find     𝐿{cos(𝑘𝑡)} =… 

 

[A] 
s

s2−k2  [B] 
k

s2−k2  [C] 
𝑠

𝑠2+𝑘2 [D] 
s

s2−k
 

C 

9)  Choose the correct option. If  𝐿{𝐹(𝑡)} = 𝑓(𝑠) ,then 𝑳{𝒕𝑭(𝒕)} =. .. 

 

[A] 
𝑑2 𝑓(𝑠)

𝑑𝑠2
 [B] f(s)  [C] 

−𝑑 𝑓(𝑠)

𝑑𝑠
 [D] 𝑠2𝐹(𝑡) 

C 

10)  Choose the correct option. If  𝐿{𝐹(𝑡)} = 𝑓(𝑠), then 𝑳{𝒕𝟐𝑭(𝒕)} =. .. 

 

[A] 
𝑑2 𝑓(𝑠)

𝑑𝑠2
 [B] 

𝒅 𝑓(𝑠)

𝑑𝒔
   [C] f(s) [D] 𝑠2𝐹(𝑡) 

A 

11)  Find 𝑳(𝐬𝐢𝐧 𝐭 − 𝐜𝐨𝐬 𝐭)𝟐 = ⋯ 

 

[A] 
1

s
−

2

s2+4
 [B] sin(s)-cos(s) [C] 

1

s
+

2

s2+4
  [D] 

5

s
−

2

s2+4
  

A 

12)  Let F(t) is function of t,t>0 . Then 𝐿{𝐹(𝑡)} =. .. 

[A] ∫ 𝑒−𝑠𝑡𝐹(𝑡)𝑑𝑡
∞

0
 [B] ∫ 𝑒𝑠𝑡𝐹(𝑡)𝑑𝑡

∞

0
  [C] ∫ 𝑒−𝑠𝑡𝐹(𝑠)𝑑𝑠

∞

0
  [D] 𝐹(𝑠) 

A 

13)  Find 𝐋{𝐭𝟐𝐞𝟐𝐭} =. .. 

 

[A] 
2

(𝑠−2)3 [B] 
1

(𝑠−2)3 [C] 
2

(𝑠−2)2 [D] 
1

(𝑠−2)4 

A 

14)  Find 𝐋{𝐭𝟑𝐞−𝟑𝐭} =. .. 

 

[A] 
4!

(𝑠+3)4 [B] 
3!

(𝑠+3)4 [C] 
3!

(𝑠+3)3 [D] 
3!

(𝑠+3)2 

B 
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15)  Choose the correct option. If  𝐿{𝐹(𝑡)} = f(s), then 𝐿{𝑒−𝑎𝑡𝐹(𝑡)} =. .. 

 

[A] 𝑒−𝑎𝑠f(s + a) [B] 𝑒𝑎𝑠f(s + a) [C] 𝑒−𝑎𝑠f(s − a) [D] f(s + a) 

D 

16)  Choose the correct option.If 𝑳{𝑭(𝒕)} = 𝒇(𝒔).Then 𝑳−𝟏{𝒇(𝒔)} =. .. 

 

[A] F(s) [B] f(s)  [C] F(t-1)  [D] F(t) 

D 

17)  Find 𝐿−1{
1

𝑠𝑛+1
} =… 

[A] 
𝑡𝑛

Γ(n)
 [B] 

𝑠𝑛

Γ(n)
 [C] 

𝑡𝑛

Γ(n−1)
 [D] 

𝑡𝑛

Γ(n+1)
 

D 

18)  Find 𝐿−1{
1

𝑠−𝑘
} =… 

 

[A] 𝑒𝑘𝑡             [B] sin kt [C] coskt  [D] 𝑒−𝑘𝑡              

A 

19)  Find 𝐿−1{
1

𝑠2+𝑘2} =… 

 

[A] 
𝑐𝑜𝑠𝑘𝑡

𝑘
 [B] 

𝑠𝑖𝑛𝑘𝑡

𝑘
 [C] 

𝑠𝑖𝑛𝑘𝑡

𝑡
 [D] 

𝑠𝑖𝑛𝑘𝑡

𝑠
 

B 

20)  Find 𝐿−1{
𝑠

𝑠2+𝑘2} =… 

 

[A] sin(kt) [B] tan(kt) [C] cot(kt) [D] cos(kt) 

D 

21)  Find 𝐿−1{
1

𝑠2−𝑘2} =… 

 

[A] tan(kt) [B] 
𝑠𝑖𝑛ℎ𝑘𝑡

𝑘
 [C] 

𝑠𝑖𝑛𝑘𝑡

𝑘
 [D] 

𝑐𝑜𝑠ℎ𝑘𝑡

𝑘
 

B 

22)  Find 𝐿−1{
𝑠

𝑠2−𝑘2
} =… 

 

[A] 
𝑠𝑖𝑛𝑘𝑡

𝑘
 [B] 

𝑐𝑜𝑠𝑘𝑡

𝑘
 [C] 

𝑠𝑖𝑛𝑘𝑠

𝑘
 [D] 𝑐𝑜𝑠ℎ𝑘𝑡 

D 
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23)  Find 𝐋−𝟏{
𝟑

𝐬+𝟒
}=… 

 

[A] 4𝑒−3𝑡 [B] 3𝑒4𝑡  [C] 3 + 𝑒−4𝑡 [D] 3𝑒−4𝑡 

D 

24)  Find 𝐋−𝟏{
𝟏

𝐬𝟓
}=… 

 

[A] 
𝑡5

24
    [B] 

𝑡4

5!
     [C] 

𝑠4

24
    [D] 

𝑡4

24
  

D 

25)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭).Then 𝐋−𝟏{𝐟(𝐬 − 𝐤)}=… 

 

[A] 𝑒𝑘𝑡𝐹(𝑡 − 𝑘)   [B] 𝑒𝑘𝑡𝐹(𝑡)      [C] 𝑒𝑘𝑡𝐹(𝑡 + 𝑘) [D] 𝑒𝑘𝑠𝐹(𝑡) 

B 

26)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭).Then 𝐋−𝟏{𝐟(𝐬 + 𝐤)}=… 

 

[A] 𝑒𝑘𝑡𝐹(𝑡)  [B] 𝑒−𝑘𝑡𝐹(𝑡) [C] 𝑒−𝑘𝑡𝐹(𝑡 − 𝑘)  [D] 𝑒−𝑘𝑡𝐹(𝑡 + 𝑘) 

B 

27)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭).Then 𝐋−𝟏{𝒇(𝒏)(𝐬)}=… 

 

[A] 𝑡𝑛𝐹(𝑡) [B] 𝐹(𝑡) [C] (−1)𝑛𝑡𝑛𝐹(𝑡) [D] 0 

C 

28)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭).Then 𝐋−𝟏{∫ 𝒇(𝒖)𝒅𝒖
∞

𝒔
}=… 

 

[A] F(s) [B] 
𝐹(𝑡)

𝑡
  [C] 

𝐹(𝑠)

𝑡
  [D] tf(s) 

B 

29)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭).Then 𝐋−𝟏{𝐟(𝐤𝐬)}=… 

 

[A] 
1

𝑘
𝑓(

𝑡

𝑘
) [B] 𝐹(

𝑡

𝑘
) [C] 

1

𝑘
𝐹(

𝑡

𝑘
) [D] 𝑘𝐹(𝑘𝑡) 

C 

30)  If 𝐋−𝟏{𝐟(𝐬)} = 𝐅(𝐭) 𝒂𝒏𝒅 𝑭(𝟎) = 𝟎,Then 𝐋−𝟏{𝐬𝐟(𝐬)}=… 

 

[A]  [B]  [C]  [D] 𝐹′(𝑡) 

D 
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31)   F(t)=sin(t) is periodic function of period … 

[A] 
𝜋

2
  [B] 2𝜋   [C] 𝜋   [D] 

3𝜋

2
   

B 

32)  Let F(t) be a periodic function of period T.Then L{F(t)}=…  

 

[A] 0 [B] 
1

1+𝑒−𝑠𝑇 ∫ 𝑒−𝑠𝑡𝐹(𝑡)𝑑𝑡
𝑇

0
 [C] T  [D] 

1

1−𝑒−𝑠𝑇 ∫ 𝑒−𝑠𝑡𝐹(𝑡)𝑑𝑡
𝑇

0
 

D 

33)  Using Convolution Theorem ,𝑳−𝟏 [
𝟏

(𝒔+𝟑)(𝑺−𝟏)
] = ⋯ 

 

[A] ∫ 𝑒3𝑢. 𝑒𝑡−𝑢𝑑𝑢
𝑡

0
  [B] ∫ 𝑒−3𝑢. 𝑒𝑡−𝑢𝑑𝑢

𝑡

0
 [C] ∫ 𝑒3𝑢. 𝑒𝑡−𝑢𝑑𝑢

𝑠

0
 [D] 1 

B 

34)  1*1=… 

 

[A] t [B] 1  [C] 
1

2
 [D] 0 

A 

35)  1*1*1=… 

[A] 
𝑡2

2
 [B] s  [C] 𝑠3 [D] 𝑡3 

A 

36)  Using Convolution Theorem,  𝐋−𝟏[
𝟏

(𝐬𝟐+𝟏)
.

𝐒

𝐬𝟐+𝟏
]=… 

 

[A] ∫ 𝑠𝑖𝑛(𝑢)𝑐𝑜𝑠(𝑡 − 𝑢)𝑑𝑢
𝑠

0
 [B] 1 [C] 𝜋 [D] ∫ 𝑠𝑖𝑛(𝑢)𝑐𝑜𝑠(𝑡 − 𝑢)𝑑𝑢

𝑡

0
 

D 

37)  Using Convolution Theorem , 𝐋−𝟏[
𝟏

(𝐬+𝟏)
.

𝟏

𝐬𝟐+𝟏
] =. .. 

 

[A] 𝑠𝑖𝑛(𝑡)  ∗  𝑒𝑡 [B] 𝑐𝑜𝑠(𝑡)  ∗  𝑒−𝑡   [C] 𝜋              [D] 𝑠𝑖𝑛(𝑡)  ∗  𝑒−𝑡 

D 

38)  Using Convolution Theorem, 𝐋−𝟏[
𝟏

𝒔
.

𝟏

𝐬𝟐+𝟏
] =. .. 

 

[A] 1*cos(t) [B]cos(t)  [C] 1*sin(t)  [D] 𝑠𝑖𝑛(𝑡)  ∗  𝑒−𝑡 

C 
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39)  
Using Convolution Theorem, 𝐋−𝟏[

𝒔𝟐

(𝒔𝟐+𝒂𝟐)(𝒔𝟐+𝒃𝟐)
] =. .. 

 

[A] 𝑠𝑖𝑛(𝑡)  ∗  𝑒−𝑡  [B] 𝑐𝑜𝑠(𝑡)  ∗  𝑒−𝑡   [C] 1 [D] cos(at)*cos(bt) 

D 

40)  Using partial fractions ,𝐿−1{
1

𝑠2+2𝑠+1
} =. .. 

[A] 𝑒−𝑡  [B] 𝑒−𝑡𝑐𝑜𝑠(𝑡)  [C] 𝑒−𝑠𝑠𝑖𝑛(𝑠) [D] 𝑒−𝑡𝑠𝑖𝑛(𝑡) 

D 

41)  Using partial fractions ,𝐿−1{
1

𝑠2+2𝑠+5
} =. .. 

 

[A] 𝑒−𝑡 𝑐𝑜𝑠(2𝑡)

2
 [B] 𝑒𝑡 𝑠𝑖𝑛(2𝑡)

2
 [C] s [D] 𝑒−𝑡 𝑠𝑖𝑛(2𝑡)

2
 

D 

42)  Find 𝐿−1{
−2𝑠+1

𝑠2+1
} =. .. 

[A] cos(t) [B] -2cos(t)+sin(t) [C] sin(t) [D] -2sin(t)+cos(t) 

B 

43)  Find 𝐿−1{
7𝑠−1

𝑠2+1
} =. .. 

[A] 0 [B] 7cos(t)-sin(t) [C]8  [D] 7sin(t)-cos(t) 

B 

44)  Using Convolution Theorem , 𝐋−𝟏[
𝟏

(𝒔)((𝒔−𝟏)𝟐)
] =. .. 

 

[A] 1 ∗ 𝑒𝑡 [B] 1 ∗ 𝑒−𝑡 [C] 1 ∗ 𝑒𝑡(𝑡 − 1) [D] 1 ∗ 𝑒𝑡𝑡 

D 

45)  Using Convolution Theorem, 𝐋−𝟏[
𝟏

(𝒔𝟐)((𝒔+𝟏)𝟐)
] =. .. 

 

[A] s              [B] s*s𝑒−𝑠 [C]𝑡 ∗ 𝑡𝑒−𝑡  [D] 𝑠2 

C 

46)  If L{Y(t)}=y(s),Find Laplace Transform of Differential Equation 
𝑑2𝑌

𝑑𝑡2 + 𝑌 = 0 

with 𝑌′(0) = 0. 

[A] y(s)=1     [B]Y(t)=0  [C]Y(t)=cos(t)[D] (𝑠2 + 1)𝑦(𝑠) − 𝑠𝑌(0) = 0 

D 
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47)  If L{Y(t)}=y(s),Find Laplace Transform of Differential Equation  
𝑑2𝑌

𝑑𝑡2 + 9𝑌 = 1   

with initial conditions Y(0)=0,𝑌′(0) = 0. 

 

[A]y(s)=0  [B] (𝑠2 + 9)𝑌(𝑠) =
1

𝑠
 [C] (𝑠2 + 9)𝑦(𝑠) = 1 [D] (𝑠2 + 9)𝑦(𝑠) =

1

𝑠
  

D 

48)  If L{Y(t)}=y(s),Find Laplace Transform of Diff. Equation  
d2Y

dt2 − 2
dY

dt
+ 2Y = 0   

with initial conditions Y(0) = Y′(0) = 1. 

[A]𝑠2𝑦(𝑠) − 2𝑠𝑦(𝑠) = 0 [B]y(s)=1  [C] (𝑠2 − 2𝑠 + 2)𝑦(𝑠) = 𝑠 − 1[D] Y(s) 

C 

49)  If L{Y(t)}=y(s),Solution of   Diff. Equation  
d2Y

dt2 − 2
dY

dt
+ 2Y = 0   with initial 

conditions Y(0) = Y′(0) = 1.using Laplace Transform. 

 

[A] 𝑒𝑡sin(t) [B] 𝑒𝑡cos(t) [C] 𝑒−𝑡cos(t) [D] 𝑒−𝑡 

B 

50)  If L{Y(t)}=y(s),Find Laplace Transform of Diff. Equation  
d2Y

dt2 + Y = 𝑡   with initial 

conditions Y(0) = 1, Y′(0) = 0. 

 

[A] y(s)=sin s [B] (𝑠2 + 1)𝑦(𝑠) =
1

𝑠2 + 𝑠 [C] 0 [D] y(s)=cos(s) 

B 

51)  Find 𝐿{𝑈(𝑡 − 𝑎)} =. .. 

[A] 
𝑒𝑎𝑠

𝑠
 [B] 0 [C] 

𝑒−𝑎𝑠

𝑠
 [D] 1 

C 

52)  If  L{F(t)} = f(s)  Find 𝐿{𝐹(𝑡 − 𝑎)𝑈(𝑡 − 𝑎)} =. .. 

 

[A] 𝑒𝑎𝑠f(s)  [B] 𝑒−𝑎𝑠+f(s)  [C] 𝑒−𝑎𝑠f(s) [D] f(s)  

C 

53)  Choose the correct option.𝐿{𝛿(𝑡)} =. .. 

[A] 0 [B] -1 [C] s  [D] 1 

D 

54)  Choose the correct option.𝐿{𝐹(𝑡)𝛿(𝑡 − 𝑎)} =. .. 

 

[A] 𝑒−𝑎𝑠𝐹(𝑎) [B] 1 [C] F(a)  [D] 𝑒−𝑎𝑠 

A 
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55)  Choose the correct option.𝐿{𝛿(𝑡 − 𝑎)} =. .. 

 

[A] 𝑒−𝑎𝑠 [B] 1 [C] 𝑒𝑎𝑠 [D] 1 + 𝑒−𝑎𝑠 

A 

56)  Choose the correct option.𝐿{𝐹(𝑡)𝛿(𝑡)} =. .. 

 

[A] F(0) [B] 1 [C] F(1) [D] f(s) 

A 

57)  Find 𝐿{𝑠𝑖𝑛(2𝑡)𝛿(𝑡 − 2)} =. .. 

[A] 𝑒−2𝑠sin(4) [B] 𝑒2𝑠sin(4)  [C] 𝑒−2𝑠sin(4s)  [D] sin(4)

  

A 

58)  Find ∫ 𝑒−4𝑡∞

0
𝛿(𝑡 − 2)𝑑𝑡 =. .. 

[A] 𝑒−4𝑡  [B] 1 [C] 𝑒−8 [D] 𝑒8  

C 

59)  Find 𝐿{𝑡3𝛿(𝑡 − 2)} =. .. 

 

[A] 8𝑒−2𝑠 [B] 8𝑒−2𝑡 [C] 𝑠3 [D] 1 

A 

60)  Find 𝐿{𝑡2𝛿(𝑡 − 4)} =. .. 

 

[A] 16𝑒−4𝑠 [B] 0 [C] 𝑡2  [D] 4𝑠2 

A 

61)  If 𝐹(𝑡) is function of 𝑡, (𝑡 > 0) then 𝐿[𝐹(𝑡)] is  

A) ∫ 𝑒𝑠𝑡𝑓(𝑡)𝑑𝑡
∞

0
 

B) ∫ 𝒆−𝒔𝒕𝒇(𝒕)𝒅𝒕
∞

𝟎
 

C) ∫ 𝑒−𝑠𝑡𝑓(𝑡)𝑑𝑡
∞

𝑡
 

D) ∫ 𝑒𝑡𝑓(𝑡)𝑑𝑡
∞

0
 

 

 

B 

62)  If  𝐹(𝑡) = 1 then  𝐿[1]  is equal to  

𝐴)𝑠 , 𝑠 > 0     B) 
1

𝑠
 , 𝑠 > 0    C) 

1

𝑠2  , 𝑠 > 0     D)  1  , 𝑠 > 0 

 

B 
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63)  If  𝐹(𝑡) = 𝑒𝑎𝑡, 𝑎 > 0 then  𝐿[𝑒𝑎𝑡]
 
 is equal to  

A) 
1

𝑠
 , 𝑠 > 0      B)  

1

(𝑠+𝑎)
 , 𝑠 > 𝑎    C) 

1

(𝑠−𝑎)
 , 𝑠 > 𝑎   D)  

𝑠

(𝑠+𝑎)
 , 𝑠 > 𝑎

  

 

C 

64)  If 𝐹(𝑡) = 𝑒−𝑎𝑡, 𝑎 > 0 then 𝐿[𝑒−𝑎𝑡] is equal to    

A) 
1

𝑠
 , 𝑠 > 0      B)  

1

(𝑠+𝑎)
 , 𝑠 > 𝑎    C) 

1

(𝑠−𝑎)
 , 𝑠 > 𝑎   D)  

𝑠

(𝑠+𝑎)
 , 𝑠 > 𝑎 

 

B 

65)  If F(𝑡) = 𝑡 , then  𝐿[𝑡]  is equal to 

 A) 
1

𝑠2  , 𝑠 > 0      B)  
1

(𝑠)
 , 𝑠 > 𝑎    C) 

1

(𝑠−𝑎)
 , 𝑠 > 𝑎   D)  

𝑠

(𝑠+𝑎)
 , 𝑠 > 𝑎 

 

A 

66)  If F(𝑡) = 𝑡𝑛 , then  𝐿[𝑡𝑛]  is equal to 

 A) 
𝑛!

𝑠𝑛+1  , 𝑠 > 0      B)  
1

𝑠𝑛  , 𝑠 > 0    C) 
1

(𝑠−𝑎)
 , 𝑠 > 0   D)  

𝑠

(𝑠+𝑎)
 , 𝑠 > 𝑎 

 

A 

67)  If F(𝑡) = sin 𝑎𝑡  , 𝑎 > 0 then  𝐿[sin 𝑎𝑡]  is equal to    

A)  
𝑠

𝑠2+𝑎2  , 𝑠 > 0      B) 
𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
1

𝑠2+𝑎2  , 𝑠 > −𝑎 D)  
𝑎

𝑠2+𝑎2  , 𝑠 > 0 

 

D 

68)  If 𝑓(𝑡) = sin 2𝑡 , then  𝐿[sin 2𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

2

𝑠2−4
 , 𝑠 > |2|    C) 

1

𝑠2+4
 , 𝑠 > −2 D)  

2

𝑠2+4
 , 𝑠 > 0 

 

D 

69)  If 𝑓(𝑡) = sin 3𝑡 , then  𝐿[sin 2𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

2

𝑠2−4
 , 𝑠 > |2|    C) 

1

𝑠2+4
 , 𝑠 > −2 D)  

3

𝑠2+9
 , 𝑠 > 0 

 

D 

70)  If 𝑓(𝑡) = cos 𝑎𝑡  , 𝑎 > 0 then  𝐿[cos 𝑎𝑡]  is equal to    

A)  
𝑠

𝑠2+𝑎2  , 𝑠 > 0      B) 
𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
1

𝑠2+𝑎2  , 𝑠 > −𝑎 D)  
𝑎

𝑠2+𝑎2  , 𝑠 > 0 

 

A 
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71)  If 𝑓(𝑡) = cos √2𝑡 , then  𝐿[cos √2𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
𝑠

𝑠2+2
 , 𝑠 > 0 D)  

√2

𝑠2+2
 , 𝑠 > 0 

 

C 

72)  If 𝑓(𝑡) = sin √2𝑡 , then  𝐿[sin √2𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
𝑠

𝑠2+2
 , 𝑠 > 0 D)  

√2

𝑠2+2
 , 𝑠 > 0 

 

D 

73)  If 𝑓(𝑡) = sinh 𝑎𝑡  , 𝑎 > 0 then  𝐿[sinh 𝑎𝑡]  is equal to    

A)  
𝑠

𝑠2+𝑎2  , 𝑠 > 0      B) 
𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
1

𝑠2+𝑎2  , 𝑠 > −𝑎 D)  
𝑎

𝑠2+𝑎2  , 𝑠 > 0 

 

B 

74)  𝐿[𝑒𝑎𝑡 + 5] is equal to    

A)  
1

𝑠+log 4
+

5

𝑠
       B) 

1

𝑠−𝑎
+

5

𝑠
    C) 

4

𝑠2 +
5

𝑠
  D) 

1

𝑠−4
+

5

𝑠
   

 

B 

75)  𝐿[𝑒2𝑎𝑡 + 15] is equal to    

A)  
1

𝑠+log 4
+

5

𝑠
       B) 

1

𝑠−2𝑎
+

15

𝑠
    C) 

4

𝑠2 +
5

𝑠
  D) 

1

𝑠−4
+

5

𝑠
   

 

B 

76)  If  𝐿 [
sin 𝑡

𝑡
] = tan−1 1

𝑠
  then 𝐿 [

sin 𝑎𝑡

𝑡
]  is equal to 

A) tan−1 𝑎

𝑠
   B)  

1

𝑎
tan−1 𝑎

𝑠
     C)  tan−1 1

𝑎𝑠
     D)  a tan−1 𝑎

𝑠
 

 

A 

77)  𝐿−1 [
3𝑠−12

𝑠2+8
]  is equal to  

A) cos 2√2𝑡 − √2 sin 2√2𝑡         B) 3 cos 2√2𝑡 − 3√2 sin 2√2𝑡     

C)  3 cos 2√2𝑡 − √2 sin 2√2𝑡      D)  cos 2√2𝑡 − 3√2 sin 2√2𝑡 

 

B 
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78)  𝐿−1 [
3𝑠+12

𝑠2+8
]  is equal to  

A) cos 2√2𝑡 − √2 sin 2√2𝑡         B) 3 cos 2√2𝑡 + 3√2 sin 2√2𝑡     

C)  3 cos 2√2𝑡 − √2 sin 2√2𝑡      D)  cos 2√2𝑡 − 3√2 sin 2√2𝑡 

 

B 

79)  𝐿−1 [
13𝑠+12

𝑠2+8
]  is equal to  

A) cos 2√2𝑡 − √2 sin 2√2𝑡         B)113 cos 2√2𝑡 + 3√2 sin 2√2𝑡     

C)  3 cos 2√2𝑡 − √2 sin 2√2𝑡      D)  cos 2√2𝑡 − 3√2 sin 2√2𝑡 

 

B 

80)  𝐿−1 [
−𝑠+12

𝑠2+8
]  is equal to  

A) cos 2√2𝑡 − √2 sin 2√2𝑡         B)− cos 2√2𝑡 + 3√2 sin 2√2𝑡     

C)  3 cos 2√2𝑡 − √2 sin 2√2𝑡      D)  cos 2√2𝑡 − 3√2 sin 2√2𝑡 

 

B 

81)  𝐿−1 [
2

𝑠2+9
]  is equal to    

A) 2 sin 3𝑡        B)   3 sin 3𝑡  C)  
2

3
sin 3𝑡    D) 

2

3
cos 3𝑡  

 

C 

82)  𝐿−1 [
3

𝑠+2
−

2𝑠

𝑠2+25
]  is equal to    

A)  te t 5sin23 2 −−

       B)  te t 5cos2 −−

    C)  te t 25cos23 2 −   D)  

te t 5cos23 2 −−

 

 

D 

83)  𝐿−1 [
3

𝑠+2
+

2𝑠

𝑠2+25
]  is equal to    

A)  te t 5sin23 2 −−

       B)  te t 5cos2 −−

    C)  te t 25cos23 2 −   D)  3𝑒−2𝑡 +

2 𝑐𝑜𝑠 5 𝑡 

 

D 
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84)  𝐿−1 [
13

𝑠+2
−

2𝑠

𝑠2+25
]  is equal to    

A)  te t 5sin23 2 −−

       B)  te t 5cos2 −−

    C)  te t 25cos23 2 −   D)  13𝑒−2𝑡 −

2 𝑐𝑜𝑠 5 𝑡 

 

D 

85)  𝐿−1 [
(𝑠+1)2

𝑠3 ]is equal to    

A)  
32

32 tt
t ++        B)  

2
21

2t
t ++     C)  

2

2t
t +          D)  

21 tt ++  

 

B 

86)  𝐿−1 [
(𝑠−1)2

𝑠3 ]is equal to    

A)  
32

32 tt
t ++        B)  1 − 2𝑡 +

𝑡2

2
    C)  

2

2t
t +          D)  

21 tt ++  

 

B 

87)  𝐿−1 [
(𝑠+1)2

𝑠3 ]is equal to    

A)  
32

32 tt
t ++        B)  

2
21

2t
t ++     C)  

2

2t
t +          D)  

21 tt ++  

 

B 

88)          𝐿−1 [
(𝑠+1)2

𝑠4 ]      is equal to    

A)  
32

32 tt
t ++        B)  t+𝑡2 +

𝑡3

6
    C)  

2

2t
t +          D)  

21 tt ++  

 

B 

89)  𝐿−1 [
(𝑠−1)2

𝑠4 ]      is equal to    

A)  
32

32 tt
t ++        B)  t−𝑡2 +

𝑡3

6
    C)  

2

2t
t +          D)  

21 tt ++  

 

B 
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90)  𝐿−1 [
1

𝑠2(𝑠2+1)
]  is equal to    

A)  tt sin+        B)  tt sin−     C)  tt cos−          D)  t
t

sinh
2

2

−
 

 

B 

91)  𝐿−1 [
11

𝑠2(𝑠2+1)
]  is equal to    

A)  tt sin+        B)  11( tt sin−  )  C)  tt cos−          D)  t
t

sinh
2

2

−
 

 

B 

92)  𝐿−1 [
101

𝑠2(𝑠2+1)
]  is equal to    

A)  tt sin+        B)  101( tt sin−  )  C)  tt cos−          D)  t
t

sinh
2

2

−
 

 

B 

93)  𝐿−1 [
12

𝑠2+9
]  is equal to    

A) 2 sin 3𝑡        B)   3 sin 3𝑡  C)  
12

3
sin 3𝑡    D) 

2

3
cos 3𝑡  

 

C 

94)  𝐿−1 [
12

𝑠2−9
]  is equal to    

A) 2 sin 3𝑡        B)   3 sin 3𝑡  C)  
12

3
sinh 3𝑡    D) 

2

3
cos 3𝑡  

 

C 

95)  𝐿−1 [
32

𝑠2+9
]  is equal to    

A) 2 sin 3𝑡        B)   3 sin 3𝑡  C)  
32

3
sin 3𝑡    D) 

2

3
cos 3𝑡  

 

C 

96)  If 𝐹(𝑡) = cos √23𝑡 , then  𝐿[cos √23𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
𝑠

𝑠2+23
 , 𝑠 > 0 D)  

√2

𝑠2+2
 , 𝑠 > 0 

 

C 
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97)  If 𝐹(𝑡) = cos ℎ√23𝑡 , then  𝐿[cosh √23𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
𝑠

𝑠2−23
 , 𝑠 > 0 D)  

√2

𝑠2+2
 , 𝑠 > 0 

 

C 

98)  If 𝐹(𝑡) = sin ℎ√23𝑡 , then  𝐿[sinh √23𝑡]  is equal to    

A)  
𝑠

𝑠2+4
 , 𝑠 > 0      B) 

𝑎

𝑠2−𝑎2  , 𝑠 > |𝑎|    C) 
√23

𝑠2−23
 , 𝑠 > 0 D)  

√2

𝑠2+2
 , 𝑠 > 0 

 

C 

99)  𝐿[8𝑒2𝑎𝑡 + 15] is equal to    

A)  
1

𝑠+log 4
+

5

𝑠
       B) 

8

𝑠−2𝑎
+

15

𝑠
    C) 

4

𝑠2 +
5

𝑠
  D) 

1

𝑠−4
+

5

𝑠
   

 

B 

100)  𝐿[18𝑒2𝑎𝑡 − 15] is equal to    

A)  
1

𝑠+log 4
+

5

𝑠
       B) 

18

𝑠−2𝑎
−

15

𝑠
    C) 

4

𝑠2 +
5

𝑠
  D) 

1

𝑠−4
+

5

𝑠
   

 

B 

 

********** 


